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Yacts A.

Pewiume ypaenenun:
1. a) cos2x=-1 6) 25in(x+%)=1

B) 2c0s’x-3sinx=0 r) cos’x=3c0sx

. 1

2. Z=] 6) cos(3x-= )=~

a)sm2 ) cos(3x 3) 5

B) 2+cos’x=2sinx T') COSX=SiN2XcosX
3. a) sin2x=% 0) tg(x-~ 14[— =1

B) 3-3cosx=2sin’x r) 3c0s’x-5c0sx=0
4. a) sin-if- =0 6) tg(§+2x)=1

B) 3cos2;"x+3=0 r) 2sin’x+5sinx=0
5. a) cos% =1 6)25in(2x-%)=ﬁ

B) 5sin’x+4sin( % +x)=4 r)+/3 cosx=sin’xcosx
6. a) 2cosx=+3 0) 2tg(3x-n)=0

B) 2sin’x+5sinx+2=0 r) sin2x=+/2 sinx
7. a) 2sin3x+1=0 0) cos(g—-2x)= i;—

B) 6cos2x+5cos(%-x)=7 r)sin2x=+/3 cosx
8. a) 1+ctgdx=0 6) 2sin(37” x)=-1

B) 2c0s’x+3sinx=0 r) ZSing =3 sinzg
0. a) 3sin%=0 6) 2cos(n+2x)= 2

B) 2c0s°x-1=sinx r) 3cos 52— +4cos® g =0
10. a) Ssin5x-5=0 o) cos(%-x)= g

B) 3sinx+3=2cos’x

r) 2 sinx=cos’xsinx
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Yacts B
Bl. Pewiuume ypaenenun:
1. a) cos2x=3+7cosx 0) 251n22x+3cos 2x=2, 551n4x
2. a) 3+5sin3x=cos6x 6) 3sin’ 2x-0 551n4x—4cos 2’Zx
3. a) cos2x=11sinx-5 6) 3sin’3 +2cos 3 -3,5sin 3 =0
4. a) cos2x+2cosdx=1 6) 2cos*3x+sin’3x=1,5sin6x
5. a) cos2x+sin’x=cosx+2 6) 1 0sin’x-12sinxcosx-11cos*x=1
6. a) cos’x-cos2x=2-sinx  6) 4sinxcosx+5cos’x=3
7. a) cos2x+cosx=-1 6) 6sin’x=4+sin2x
8. a) cos2x-+/3 cosx=-1 6) 3sin2x+8cos’x=7
9. a) cos2x+sin(x+37” =0  6) 6sin’x+2sin’2x=5

10. a) cosx+sin(%+2x)=0 6) 4cos’x-sin2x=1

B2. Peuuume HepageHcmeo:

1. 2sinx<-1 2. -3tgx>3 3. V2 sin( % -2x)>1
4. 2sin(m+3x)< 3 5. ctg(3—7r -£)<\/— 6. 2cosx>+/3
7. -\3tgx<3 8. 2005( > +3x)§- V2 9. 2cos(n-2x)>1

X

10. tg(n+3 )+1>0

Yacrn C

CKonbko KopHeli umeem ypagHeHue?

L. (c 12 )\/5.5—-}20 2. (sinx +cosxfVI-% =0

. (Sm x—lj\/ﬁ_o 4. 5(sinx—cosx)f1-x? =0
5. (1—2sin2§)m=0 6. (2c052§—1j\/55—:_4—x—2=0
7. (sinx+cosx)2m=0 8. (sinx—cosx)2M=O

9. (cosxcos3x +sinxsin3x3x —x* =0

10. (sin2xcos4x —sindxcos2xWx—x* =0




